
 

 

 481 – תרגול טכניקה –  אינטגרל

 בכל סעיף   אינטגרלעשו  .1

∫  דוגמה: �15 𝑥𝑥
4 − 𝑥𝑥2

3
+ 5𝑥𝑥�𝑑𝑑𝑑𝑑 = 1

5
∙ 𝑥𝑥

5

5
− 𝑥𝑥3

3∙3
+ 5𝑥𝑥2

2
= 𝑥𝑥5

25
− 𝑥𝑥3

9
+ 5𝑥𝑥2

2
 

 3𝑥𝑥4𝑑𝑑𝑑𝑑∫ . ב 𝑥𝑥2𝑑𝑑𝑑𝑑∫ . א

2𝑥𝑥3)∫ .ג − 𝑥𝑥2 + 4𝑥𝑥)𝑑𝑑𝑑𝑑 ד . ∫(𝑥𝑥4 − 𝑥𝑥2 + 5)𝑑𝑑𝑑𝑑 

𝑥𝑥)∫ .ה − 𝑥𝑥2)𝑑𝑑𝑑𝑑 ו . ∫ �15 𝑥𝑥
4 − 𝑥𝑥2

3
+ 5𝑥𝑥�𝑑𝑑𝑑𝑑 

∫ .ז �16 𝑥𝑥 − 4𝑥𝑥2� 𝑑𝑑𝑑𝑑 ח . ∫ �12 𝑥𝑥
3 − 𝑥𝑥2

3
+ 1� 𝑑𝑑𝑑𝑑 

 
 

 

 בכל סעיף   אינטגרלעשו  .2

𝑥𝑥)2∫  דוגמה: − 6)2𝑑𝑑𝑑𝑑 = 2(𝑥𝑥−6)3

3
 

𝑥𝑥)∫ . א − 2)2𝑑𝑑𝑑𝑑 ב . ∫(𝑥𝑥 + 5)4𝑑𝑑𝑑𝑑 

1)∫ . ג − 3𝑥𝑥)2𝑑𝑑𝑑𝑑 2∫ .ד(𝑥𝑥 − 6)2𝑑𝑑𝑑𝑑 

9𝑥𝑥−)4∫ .ה + 3)2𝑑𝑑𝑑𝑑 2)∫ . ו − 3𝑥𝑥)5𝑑𝑑𝑑𝑑 

2𝑥𝑥)∫ .ז − 3)4𝑑𝑑𝑑𝑑 7)∫ .ח𝑥𝑥 + 3)2𝑑𝑑𝑑𝑑 

∫ .ט
(𝑥𝑥−7)4

4
𝑑𝑑𝑑𝑑 י. ∫

(1−𝑥𝑥)2

3
𝑑𝑑𝑑𝑑 

 

 



 

 

 בכל סעיף   אינטגרלעשו  .3

∫  דוגמה: �2𝑥𝑥3 − 1
6𝑥𝑥3
� 𝑑𝑑𝑑𝑑 = ∫ �2𝑥𝑥3 − 𝑥𝑥−3

6
� 𝑑𝑑𝑑𝑑 = 2𝑥𝑥4

4
− 𝑥𝑥−2

6∙(−2) = 1
2
𝑥𝑥4 − 1

−12𝑥𝑥2
 

 

 

∫ . א 1
𝑥𝑥2
𝑑𝑑𝑑𝑑 ב . ∫ 1

𝑥𝑥3
𝑑𝑑𝑑𝑑 

∫ .ג � 1𝑥𝑥2 −
1
𝑥𝑥3
� 𝑑𝑑𝑑𝑑 ד . ∫ � 2𝑥𝑥2 + 4

𝑥𝑥3
� 𝑑𝑑𝑑𝑑 

∫ .ה � 4𝑥𝑥2 − 2𝑥𝑥�𝑑𝑑𝑑𝑑 ו. ∫ � 1
3𝑥𝑥3

+ 4
5𝑥𝑥3
� 𝑑𝑑𝑑𝑑 

∫ .ז �5𝑥𝑥 + 1
𝑥𝑥3
� 𝑑𝑑𝑑𝑑 ח . ∫ �2𝑥𝑥3 − 1

6𝑥𝑥3
� 𝑑𝑑𝑑𝑑 

 

 

 בכל סעיף   אינטגרלעשו  .4

∫   דוגמה: � 2
(3𝑥𝑥−4)3� 𝑑𝑑𝑑𝑑 = ∫(2(3𝑥𝑥 − 4)−3)𝑑𝑑𝑑𝑑 = 2(3𝑥𝑥−4)−2

−2
= 1

−(3𝑥𝑥−4)2 

 

 

∫ . א 1
(𝑥𝑥+5)2

𝑑𝑑𝑑𝑑 ב . ∫ 4
(𝑥𝑥−3)2

𝑑𝑑𝑑𝑑 ג . ∫ 1
(2𝑥𝑥+3)2

𝑑𝑑𝑑𝑑 

∫ . ד 1
(−3𝑥𝑥−1)2

𝑑𝑑𝑑𝑑 ה. ∫ 7
(3−𝑥𝑥)2

𝑑𝑑𝑑𝑑 ו. ∫ 5
(3𝑥𝑥+1)2

𝑑𝑑𝑑𝑑 

∫ .ז 1
(𝑥𝑥−1)4

𝑑𝑑𝑑𝑑 ח . ∫ 8
(3−2𝑥𝑥)4

𝑑𝑑𝑑𝑑 ט. ∫ 3
(4𝑥𝑥+1)5

𝑑𝑑𝑑𝑑 

 

 

 

   לפי חוקי חזקות
1
𝑥𝑥3

= 𝑥𝑥−3 
   חוקי חזקותלפי   אינטגרל

𝑥𝑥−2 = 1
𝑥𝑥2

 

 לפי חוקי חזקות 

   1
(3𝑥𝑥−4)3

= (3𝑥𝑥 − 4)−3 
 חוקי חזקות  אינטגרל



 

 

 בכל סעיף   אינטגרלעשו  .5

∫   דוגמה: � 2
√5𝑥𝑥+4

� 𝑑𝑑𝑑𝑑 = ∫ �2(5𝑥𝑥 + 4)−
1
2�𝑑𝑑𝑑𝑑 = 2(5𝑥𝑥+4)

1
2

1
2

= 4√5𝑥𝑥 + 4 

 

 

∫ . א � 1
2√𝑥𝑥

� 𝑑𝑑𝑑𝑑 ב . ∫ � 1
2√𝑥𝑥−7

� 𝑑𝑑𝑑𝑑 ג . ∫ � 3
2√𝑥𝑥+3

� 𝑑𝑑𝑑𝑑 

∫ .ד � 1
√𝑥𝑥−7

� 𝑑𝑑𝑑𝑑 ה. ∫ � 1
√2𝑥𝑥

� 𝑑𝑑𝑑𝑑 ו . ∫ � 4
√3𝑥𝑥−1

� 𝑑𝑑𝑑𝑑 

∫ .ז � 1
√𝑥𝑥−7

� 𝑑𝑑𝑑𝑑 ח. ∫ � 1
√𝑥𝑥
− 1

√𝑥𝑥+4
� 𝑑𝑑𝑑𝑑 ט. ∫ � 1

2√𝑥𝑥
− 4

√3𝑥𝑥+4
� 𝑑𝑑𝑑𝑑 

 

 

 לפי חוקי חזקות 

   1
√5𝑥𝑥+4

= (5𝑥𝑥 + 4)−
1
2 

 אינטגרל
 חוקי חזקות 


